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QUESTION 1

What is an advantage of using range partitioned tables?

A. Abilityto run utilities against the partitions in parallel

B. Increased query performance through data partition elimination

C. Block indexes are much smaller than RID indexes, providing better performance

D. Table data is automatically and continuously clustered, requiring minimal reorganization

Correct Answer: B

QUESTION 2

Which tool can be used to get database design recommendations based on SQL statements stored in the database
package cache?

A. db2pd
B. db2dart
C. db2expin
D. db2advis

Correct Answer: C

QUESTION 3

Given the following: What will be the result of the following SQL statement?

CREATE TABLE t1 (col1 INTEGER MOT NULLY);

CREATE VIEW v1 A5 SELECT col1 FROM 1 WHERE col1 = 10;

CREATE VIEW v2 A5 SELECT coli FROM v1 WHERE col1 = 40
WITH CHECK OPTION;

CREATE VIEW v3 AS SELECT colt FROM v2 WHERE col1 = 50;

INSERT INTO v3 (coll) values (30);

A. The insert will succeed as it passes validation.

B. The insert will succeed as there is no WITH CHECK OPTION on view V3.

C. The insert will result in an error as it violates the WITH CHECK OPTION on view V2.

D. The insert will succeed as the default WITH CHECK OPTION is LOCAL on view V2.
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Correct Answer: C

QUESTION 4

On Linux and Unix systems, which of the following will set the DB2_FMP_COMM_HEAPSZ registry variable to 1 GB (or
256000 pages), only for the instance db2inst1?

A. As the db2 instance owner (db2instl) execute the command:exportbB2_FMP_COMM_HEAPSZ=256000

B. Add to the following line to the userprofile (db2instl): DB2_FMP_COMM_HEAPSZ=256000

C. As the db2 instance owner (db2instl) execute the command:db2set ? DB2_FMP_COMM_HEAPSZ=256000

D. As the db2 instance owner (db2instl)execute the command:db2set ? db2instl DB2_FMP_COMM_HEAPSZ=256000

Correct Answer: C

QUESTION 5

Automatic space reclamation for column-organized tables can be accomplished in which of the following scenarios?
A. When the registry variableDB2_AUTORECLAIMSPACE=YES

B. After termination all the back-end processes using TERMINATE command

C. After setting the database configuration parameter AUTO_DEL_REC_OBJ to ON

D. When the registry variable DB2_WORKLOAD=ANALYTICS prior to database creation

Correct Answer: C
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